A

AIRER ~ No.113185

[C40046A

1
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



WZ13-150GM A
WAGNER

POS b7 B B TEAM ik
1 T 1 =7 GB18OPN-100
2 2110241 |F1— 1 1,800[5 X 5 X 40

3 2110774 |75 1 5,900

4 2110890 | LR 1 MW3SF32G

5 2110390 |[7ra—& 317 1 23,500|MV540F

6 2104620 |AAAAT LR 1 5,600|R3/8

7 2118067 |7 7—/rvhk 1 4,400|SUS3/8F

8 2110242 |&KO=v7 )L 1 3,800|G3/8M X R3/8M
9 2104496 |48y MIT VAR T X T H— 1 3,800|G3/8FxR3/8M
10 | 2110243 (WK 7 44— 1 620/ ¢ 15.5

11 | 2110244 |WAKAO=v7 )L 1 4,500/G1/2M X R3/8M
12 | 2104037 |$BEAAAATILR 1 4,500[R1/4M X R3/8M
13 | 2104700 |7 1— 1 5,000|R1/4F

14 | 2102502 |R— 307 1 7,700(1/4

15 | 2103401 WrDOF-=v7 )L 1 1,300|G1/4F X ¢ 9

16 | 2110245 | =7 —4k&Fa—7 1 7808 X 13 X 100

17 | 2115551 |JE S8k 1 9,900/ ¢ 50 + 30MPa
18 | 2110246 |Zviarah¢ 65 X 20 2 2,300|-N092075

19 | 2110247 |%2%4AY 2 8,900

20 | 2110248 |rmU—T7L —A 1

21 | 2110249 |reY— KoL 1

Ik -

T - P = AN AL (e IR /Y o/ S B

2

LC40046A

2023.02




A

A{EER No.114000 ~

IC40049A

3
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



WZ13-150GM

A
WAGNER

POS i EEA & TEAM ik
1 2110302 (7T 0/r—2A 1 39,000

2 2110303 [AANKVL T T 2 4,500|G3/8

3 2110304 [0V 1 1,200[13.95 X 2.62
4 2110305 |[FuFrx— 1 2,600

5 2110306 [A AL —)L 3 2,500[15 X 24 X 7
6 2110307 777 1 2,600(G1/4

7 2110308 |[v=A&—/LK 1 160,000

8 2110309 |4 12 400| ¢ 6.4

9 2110310 |74 7R LR 8 270|M6 X 40

10 | 2110311 |0 V> 2 6@ 270[17.32 X 2.62
11 | 2110312 |/ 73—k 6@ 4,000

12 | 2110313 |37 6@ 1,600

13 | 2110314 |\ TRFYLT 6@ 860

14 | 2110315 |\ TH— 6@ 1,300

15 | 2110316 |0 Vv 6 270[20.29 X 2.62
16 | 2110317 |7 757 6 7,700|M24 X 1.5
17 2110320 |/ ST H—E 2Bk o 32,100|1 &47 Pos.10,11,12,13,14
18 | 2110321 |~vKUZ 30 1,200

19 | 2110322 |@JE/RwFr 30 5,000

20 | 2110323 |SvFr24 30 7,300

21 | 2110324 OV 30 520(25.12 X 1.78
22 | 2110325 |0 VU7 30 620[15.08 X 2.62
23 | 2110326 [AANYARTTA 1 5,000

24 | 2110327 |=—KA_T7UF 1 5,200

25 | 2110328 [AANAT AV 1 4,300

26 | 2110329 [/AfF bk 3 3,300|M8

27 | 2110330 |V v— 3 1,200] ¢ 8

28 | 2110331 |[EFIv7E AR 3 18,100[ ¢ 15

29 | 2110332 |0V 3 380/5.28 X 1.78
30 | 2110333 |77V 3 1,200

31 | 2110334 |Vviv— 3 860( ¢ 9

32 | 2110335 |7/Tv7v 3 3,200| ¢ 8 X 24.5
33 | 2110336 |77 0r—AN— 1 11,600

34 | 2110337 |/NASLFRLVE 4 270|M6 X 18

35 | 2110338 |0V 1 1,500(88.57 X 2.68
36 | 2110339 |27 A7 ayR 3 19,400

37 | 2110340 |E°AhrmvR 3 15,600

40 | 2110345 |3—H—bExEYR]1 B4 O 35,800|Pos.18,19,20,21,22
62 | 2110346 |HUff770v 1 14,700

65 | 2110347 |[A—H— 1 4,300

66 | 2110348 |0V 1 650[43.5 X 3.53
67 | 2110349 |4 AL —)L 1 4,000[30 X 42 X 8
68 | 2110350 |[EEV2 1 860

69 | 2110351 |m—F—_FVYL 1 9,400(6206

70 | 2110352 |(7TL 0L %7k 1 46,600

Ik -

T - P = AN AL (e IR /Y o/ S B

4

LC40004A

2023.02




A

& E AR 7 [IMW3SF32GI(PN 2110890)

J047A

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



_ A
WZ13-150GM WAGNER

POS T i B TEAM ik
2 2110762 |7Fv0/r—2A 1 80,900/MW3SF28-30G
3 2110713 |[AANTF7 O Vo 74 1 2,200
4 2110714 [0 U7 (1) 460|P20
5 2110715 |Rvo7ro7 1 910
6 2110714 [O V7 1 460(P20
7 2110891 |77 7 %7k 1 37,000
8 2110765 | X7V T r—2A 1 3,000/MW3SF28-30G
9 2110718 | X7V 1 3,900(6006
10 | 2110766 |[A AL — L 1 D30428 FEFRBLIAA A]
11 2110767 |[O U7 1 1,100(S100
12 | 2110877 |+t RLb 3 160|M6 X 14
13 | 2110723 |_7U7 1 1,500|% 6204
14 | 2110724 (R F>TFV T 1 400(7/H C 7 47
15 2110878 |[KailZ Assy 1 1,500
16 | 2110813 A&k (1) 270[25 X 34 X 2
17 | 2110770 |=rmvhk 3 6,000
18 | 2110727 ARt 3 520[ ¢ 9 X 22
19 | 2110892 [E"AlN 3 11,400
20 | 2110879 [V y— 3 250[17 X 24 X 1.2
21 2110730 |A AT —L 3 1,600(S10.5 X 24 X 7
22 | 2110731 [>—VUTF—F— 3 200
23 | 2110732 |[R—7 3 5,100 73y
24 | 2110881 [A~X—H— 3 1,30016 X 10.5 X 9
25 2110734 | ANATV 7 3 300
26 | 2110735 | AL 3 2,100
27 | 2110736 | 3% 3 150
28 2110893 |pDHIxIEDFF ST~ 3 400
29 | 2110818 W Afr—RA 1 13,700
30 2110880 [KET—v 3 2,300/ — A JE
31 2110741 |@JE —/L 3 4,600
32 | 2110742 |[AAR—H— 3 2,600
33 | 2110743 [0V 3 400|P22
34 | 2110820 [H:HiA—= 1 13,700
35 | 2110746 [RFVL T H—= 3 400
36 | 2110882 [m:{H LT 3 1,300
37 | 2110744 | FRI—F 3 1,900
38 | 2110748 |[HHAT VLS 3 870
39 2110883 |/ XAV R 6 270|M8 X 75
44 | 2110774 |[7Tv 1 5,900
45 2110863 |/SFAHRILE 4 160{M8 X 20P-SW f+
46 | 2110773 |MEUvy 4 150
47 | 9921507 [AF VLT Ty p— 4 200|M10
48 | 2110752 [ASARILE 4 150|3/8UNC X 35

6 LC40047A
(R L (TR =P AN AL U IR /N U/ 3 2023.02



A

7oO—45—/\)L7J [MV540F](PN 2110390)

[C400058B

7
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



WZ13-150GM A
WAGNER
POS | L& B = TEAM ik
1 | 2110361 |#§%& /~ 1 1,500
2 | 2110362 |[FH%EF 1 3,500
3 | 2110363 |27 F vk 1 1,200
4 | 2110364 [FHEATVT 1 2,000
5 | 2110365 [V 2 a4 1 1,800
6 EAR [ B L RS A w]
7 NI T TV Q1 B L S A W]
8 ovvr [ B A A~ w]
9 Y — 1 B L S AR W]
10 oVr [ s N
11 oV Q1 B fiRe AN A]
12 N Ty TNV [ L AR W]
13 oV [ ! B RS AN A]
14 | 2110374 [A~—H— 1 1,600
15 2L [ ! 11/32 B An ka4~ Al
16 ovvr Q1 LS N
17 2L T L —h [} L s A A]
18 | 2110378 |[»NILTARF A 1 10,100[MV540
2110399 VSV TARF 4— « F 1 9,700|MV540F
19 ovvr Q1 4.3 X 2.4 BHGHEGEAR AT
20 HIEF 1 LS A ]
21 WIEFR ATV 1 B L S A A]
22 oV 1 B L S A A]
23 | 2110383 | O 7 w70 3,800
2110390 |7>m—& L7 23,500|MV540F
.C40005B
8

Ik -

T - P = AN AL (e IR /Y o/ S B




WZ13-150GM

A
WAGNER

%+ RK7R—X (PN 2116134)

ID40001A
POS I i g AT ik
1 1
1-1 | 2116134 |W « KV AL HR—A 18,400(G1/2 + G3/8 X 3m
1-2 | 2116135 |¥ « KV AL R—A 20,800|G3/4 » G1/2 X 3m
1-3 | 2116136 |43y 3/4 1,700(5 ¥ AV
1-4 | 2116137 [O4/3v%> 1/2 1,500(5 ¥ AV
1-5 | 2116138 |A4/<v¥%> 3/8 1,300(5 ¥ AV
2 2116320 [ARL—F— - [z 1 4,200|G3/4F
.D40001B
9
R « 3 - MIE T ERLERETL2HRHET, 2023.02



